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Particular cases with n = 2 (hypotheses: R R2 1  e σ σ2
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ρij = 0: 

 

 

  
 

Capital Market Line: 
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Bonds:   
 

Current rate of return:   

  

Actualised rate of return:  

 

 

Rate of return on bond investment:   

 

Interest rate for a bond of maturity n, according to  
 

Expectations theory  

 

 

Liquidity premium theory 
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Stock evaluation: 

 

 

 
 

Gordon’s model 

 

 

Exchange rate market 

 

 

 
 

Money supply, monetary multipliers: 
 

 

 

 

 

Money demand: 
 

 

 

 

 

 

 

 

 

 

 

 

 

Note: variables as used in the classes. 
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